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SINGAPORE CHINESE GIRLS' SCHOOL
'SECOND SEMESTRAL ASSESSMENT 2021

PRIMARY §
MATHEMATICS
PAPER 1
BOOKLET A

Name: ____ { )

Class : Primary 5 Date : 28 October 2021
| | Marks attained | Max Mark | |Parents Signature
Paper 1 BookletA | | 20

BookletB 25
Paper 2 T BS
Total Marks | | 100
15 Questions
20 Marks

Total Time for Booklets Aand B:1h

Da not open this baa&det until’ you are tofd to do so,
Follow all instructions carefulty.

Answer alf questions.
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Booklet A

Quasﬁans 1 to 10 cany 1 mark each. Guestmﬂs ﬁ tca 15 cany 2 marics eaeh
For each question, four options are given. One qf ‘th“egm Is the correct-answer.
Make your choice (1, 2, 30r4). Shgde the @arret:t .ogagu 2,3 or4)on the Optical
Answer Sheet. (20 marks)

1. What does the digit 8 in 876 543 stand for?
{1} 8 millions
(2) 8 hundred thousands
(3) 8 ten thousands
{4) 8 thousands

2. Whichof the following Is equal to.4 52
28
)y
36
@)%
39
(3) §
80
4) 5

3. inthe scale below, find the value of A,
1

1.7 7.8 7.9 8.0 A
(1)8.2
(2)8.4
(3)8.02
(4)8.04
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Round 5794 643 1o the nearest thousand.

(4)6:790.000

(295704000

(35785000
(4) 5 800 000
Which of the following is Hikely to be the total mass of 2 apples?

129
(2)209
(3)2004¢
{4) 2000 g

Which one of the following fractions is nearest to %?

M

N
i

P e

(N

S
-} @ien ol =
pe @ !

=
Soagrt’

. 92.f50"+ 1000 =

{1 927-5:
(2) 827.6
(3)92.75
(4) 6.275

2
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10.

(Msbsze

Express 85% as a decimal.

) 8

@) 85
(3) 085
(4) 0085

PQ and'RS are straight lines. Which of the following Is true?

(@) Lax e
BY£Lb+ Lo+ Ld=180"
(4) L a+ £ c=180°

Which of the following is the same as 8070 g ?

(1) 8.07 kg
(2) 8.7 kg
(3) 80.07 ky
{4} 80.7 kg

3
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11.

12.

13.

Mr Wong bought 5 kg of noodles, He used 35* of it to cook Mee Goreng and

% kg to cook Mee Soto. How much roodles did MrWong have left?

(142 kg
{2) 3% kg
(3)3kg
(4) %5 kg

Mrs Chandra,baked 45 cupcakes. 27 were almond cupcakes and the rest
were chagolite cupcakes. What is the ratio of the number of almond

‘cupcakés to chocolate cupeakes?

(1).2:3
(2) 3:2
{3) 8:5
(4) 5:3

1000 people who attended a concert. 600 were aduits and 100 were boys.
What percentage of the audlence were glris?

(1) 10 %
(2) 20 %
(3)30 %
(4940 %

4
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14, Janice is half the age of her father. Her father is 48 years old now. What is the
ratio of Janice's age to her father's age in 8 years’ time?

(1) 1:2
{2) 3:2
(3) 3.7
(4} 4:7

153.  Inthe figure below, AB = BC and BCD is a straight line, Eind ZACD.

b
A
{1) 67°
(2)114°
(3y123°
{4) 130°
End of Booklet A
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SINGAPORE CHINESE GIRLS’ SCHOOL
SECOND SEMESTRAL ASSESSMENT 2021

PRIMARY 5
MATHEMATICS
PAPER 1
BOOKLET 8
Name ! (O
Class :Primary & Dats : 28 October 2021
Paper1 |  Markattained ~ MaxMark
Booklet B | 25

15 Questions
25 Narks

Total Time for Booklets Aand B: 1 h

INSTRUCTIONS TO CANDIDATES

Do not open this bookiet until you are told 1o do so.
Follow all instructions carefully.

Answer all questions.

Yot are not allowed to use a caiculator
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Booklet B , | | Garctudial
| Questions 16 to 20 cany 1 mark each. Write your answers in the spaces pmﬁdéd |
For quastions which mqu;re unﬁs ina your answersgn the units stated, {5 marks)
16,  In anonline game, 30 gems cost $15. Firad.iha cosi of each gem
Ans: §
17. How much water is in the container?
Ang t
18. - Find thevalusof 6 + 24 + (11 -8)x 2.
Ans:

www.testpapersfree.com



19. Artangs these nurmbers from the largest to the smallest.

0.081, 0.801, 0.81

Ans:

(largest)

- {smallest)

20. Qenveﬁ%_{atp a decimal.

Ans;

BP-817

D ot waite o
\hi% column
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* Questions 21 1o 30 carry 2 marks each. Show your working clearly.and wite your . | BiCaim
* answers in the spaces provided. For questions which require unifs, give your.
answers in the units stated. (20 marks)

21, How many more cubes ars needed 1o fill up the tank below?

Ans:

22. Devi spent 30% of her salary and saws% of the remainder. What

percentage of her salary did she save?

www.testpapersfree.com



Ans: X 4

24, In the triangle MOQ,
‘a) nhame the base and height of the triangle- MOQ.

b} find the area of trlangie MOQ. 10¢

-
o
g

l
3
|

Ans: a) Base: ___

Height:

b) cm?

BP-819

- B not waita in
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25. Thera are, 5 tar:ms players. Each player will have one match against each of
the othar 4 players, How many different matches are there to be, an*angad’?

Ans.

26.

paper measuring 39 cm by 52 cm?

Ans:

%

How many 4 om by 4 cm squares can bs cut out from a rectangular plece of. |

BP-820

Oo notwrite i

- iy Golumn
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27, The mass of a honeydew Is 6 times as heavy as the fass of 8 mango: " e ok
A lemon is 3 the mass of the mango. The mass of the honeydew is 1100 g
heavier thap the mass of the lemon. What is the total mass of the.3 fruits?

Ang: g

28, Amaching éperated from 6.15 a.m. to 9.45 p.m. How long was ts operating |
time? Give your answer in hours and minutes.

12
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30.  MrWen bought some stickers for his students: Ifié gives each of his stiidents’ | E;"gmﬁ
5 stickers, he will have 1 sticker left. If he gives each of them 2 stickers,he |
will have 97 left. How many students doas Mr Wen have? '

Ans:

End of Booklat B
14
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SINGAPORE CHINESE GIRLS’ SCHOOL
SECOND SEMESTRAL ASSESSMENT 2021
PRIMARY 5
MATHEMATICS

BP-826

PAPER 2
Name : _ : - - )
" Class : Primary & Date : 28 October 2021
| Mark Max Mark Parent's signamré

Paper 2 85

47 Questions
55 Marks

Total Time for Paper 2: 1 h 30 min

INSTRUCTIONS TO CANDIDATES

Do not open this booklet until you are told to do so.
Foliow all instructions carefully.

Answer aill guestions.
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. Questions.1 to § carry 2 marks each. Show your working clearly in the space below Do noturtian
 gach quéstion and writé your ahswers in the pa mvidad For quesﬂens which
Trequire units; giva your-answers in the units. stated:.- (1(! marks) © v

1. Thepriceofa 'laptop was $1690. Mdm Kaur béught ihe.iaptep and had fo
pay an additional 7% GST. Find the'GST amount she has lo pay.

Ans §_

2. Thediagram balow is not drawn o scale.

Given that RST ami QSP are straight nes and QRS is an [so&ceies triangles
find La- -

Ans: _ °

www.testpapersfree.com



4,
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3 Yua Liﬂg welghs 52 kg. Aralyn weighs 12 kg hghter than Yue ng Prtsha o e g In
welghs 5‘ kg heav@er than Aralyn. What is the ratio ef Yue Ling smassto
Aralyn’s mass to Prisha’s mass? (Give your answer in the simplest form.)
Ans:
The numbers 1 to 200 were written on a piece of zﬁaper which was tom.
Which row is number 188 in?
. . —~ - 15
B 2 s | 16
C 3 10 17
D | 4 11 | 18
E 5 12 | 19
F | 6 13 20
G 7 14
Ans:
4
2
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Mr Tan decorated a noticeboard using squares. The squares were pla;:ed at: E,?jmi"
the same- disiance a;;a\%a nee beiween the secand and the *szxih |
squa;e was 74 cmvgach sqaare‘was 10 i, What is %Be dnstanse between "
ihe ﬁ:tsz and %ersth sqnaw" __
T :1 T 0 0O EZ] IO oo
, L T4cm S
2
Ans _ cm
2
3
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- For quastions 6 to 17, show your working clearty ifi tha Space bislow each qusstion
and write your answers in the spaces pmviéeﬁ Tha iumber of marks awarded Is
shown in brackets [ }at the end of each quaaﬁﬁti. rf-@esbi}n {5& marks)

6. Lucas cn!lected 60 cards more than Mary. When i.:zcas gave ?Ct e:ards to
Mary, Mary had thrice the numbet of cards Lusas ﬁad How many carcls did

Lucas have at first?

Ans; . e [3]

BP~831

“} Do ot wite in

this-colurin
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7.

‘The figure below, not.drawn to scale, is made up of identical small.squares
and big squares. The length.of the small and big squares are 10 em.and
20 cm respectively. Find the area of the shaded parts. |

e o S (08w B

Ans: , 3]

5
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8. ~ Donuts are sold at 80¢ each or i & box of 12 for $8.80. Whist is the least | Dorcturtein
amount of money needed 1o buy 100 donuts? o

Ans: : [31

9,  Siti has the same number of 50-cent coins and 20-cent coins. The total value
of the coins is $8.40. How many coins does she have aliogether?

Ans: [3}

6
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. Aroom can hold either 45 adults or 75 children. If there are already 25 D roL ita n
,i chddran and 8 adults in the room, how many more adults can the room
Ans: [3)
3

7
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ﬁ* of his remaining money and an aﬁ_»‘a}_ﬁigna} $2 on mangosteens. If ha had

$16 left, how much did he spend on durians?

Ans: _ [5]

BP-835

Bonolwtain;
ARl colums -
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12 The diagram_ below is not drawn to scale. .
P redeang Jar | piece of_ aper is folde

,..8)Find Za

b) Find £b.

A

Ans: (a) R 4
{b) - 2]

BP-836

i resh writes b
this ealienin

9

www.testpapersfree.com




13,

Miss Koh baked 250 more strawberry cookies than chocolate cookies. She

sold 70% of the strawbenry cookles and 20% of e chocolate cookies. In the
end, she had the same number of strawbenry cookies and cHocolate cookies |

left. Find the number of chocolate cookies she baked at first.

[4]

BP-837

“{ Do notwite it
| this column
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, Do potweile i
14,7 The tar;k be!ow, measuring 21.cm by 20 cmby 40 o, 187 4 ﬁﬂed with water - | ¥ v
%t first. All the water Is poured info ermply identtcai ‘botties to the brim. Each
bottle has a capacity of 700 ml. o
a) How much water was there in the t
‘b) How marxy such bottles are compleﬁaty ﬁt[ed wilh waters
R | 7 21 om
aoem |
i g,ﬁf;h . ‘MJ .': o
Ans: {a) _ _12
(®) i2]
4

1
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i [P
pears, The number of oranges Is 3 times the number of pears. There were

BP-~839

In & fruit.store, 28% of the fruits were apples and.the rest were oranges and « ﬁm*

324 oranges.

a) What percentege of the fruits were pears?
b) How many apples were fh_-gre?

Ans: (a) 1]

(b) B~

12
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16.

“The figuis shown below is made up of a rectangle and a Squaré. The area of

the square is %af the area of the rectangie,maunshadad part of the square

is % of the area of the unshaded part of the Fectangle. Given that the shaded
area Is 45 cm?, what is the area of the figure?

Ans, _ _ 4]

BP-840

0o mot write in

13
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17,

below.
Correct™ R
Wg}ng - 2 points
Missed 1 potnfs

The ratio of the questions answered correctly to questions answered
wmnglyto queﬁions that were missed out was 8: 2 : 1. If Janice was
awarded 360 points, how many questions are thers in'ali?.

During a ErMa quiz, points, were awarded for quesﬁons answared as shown.

5]

BP~841

Bonotmin
s column

End of Paper 2

~ Please check your work thoroughly. ~
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SCHOOL :

LEVEL : PRIMARY 5
SUBJECT : MATH
TERM : 2021 SA2

SINGAPORE CHINESE GIRLS PRIMARY SCHOOL

PAPER 1 BOOKLET A

Q1

Q2 Q3 Q4 Qs Q6 Q7 Qs Qs Q10
2 3 4 3 3 2 3 3 2 1
Q111 | Q12 | Q13 Q14 | Q15
4 2 3 4 3

PAPER 1 BOOKLET B

Q16)

0.50

Q17)

2
2

Q138)

22

Q19)

0.81, 0.801, 0.081

Q20)

0.875

Q21)

Total no.of cubes =3 x 3 x3=27
Total no. of cubes needed =27 —14=13

Q22)

100% - 30% = 70%
70% + 10% = 7%
7% x7=49%

Q23) | 3g+5=2e
Q24) a) Base: MQ
Height: OP
b) %x 6 x4 =12cm?
Q25)

Pgl
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4+3+2+1=10

Q26)

39+4=9R3
52+4=13
9x13=117

Q27)

M

&

L ___f
6x2=12
1x2=2

1400+ 11 =100
100 x 15 = 15009

v

1100g

Q28)

15 hours 30 mins

I
6:15

15h 30mins

9:15 : 9:45

Q29)

Pg2
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Top View

Side View

Q30)

Let the number of students be N
+ =NR1
+ =NR97
{5N) +1 =(2N) + 97
EN-2N=97-1
3N =96
N=96+3=32
PAPER 2
Q1) ! 1690 x TE‘B = $118.30
Q2) |360° -280° =80°
180° - 80° =100°
100° + 2 =50°
Q3)
Y 52kg
A <« 12kg»
P 6kg
Pg3
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Aralyn > 52 -12=40
Prisha=> 40+ 6 = 46

Y: AP
+ 140 46 = +
2 §g§:20:42? ?

Ans: 26:20:23

Q4)

188 + 7 = 26R6

A: R1
B: R2
C:R3
D: R4
E:R5
F: R6
G: RO

Ans: Row F

Q5)

10 x5 =150
74 -50=24
Length of interval > 24 +4 =6

Total
Intervals: 9
Squares: 10

Intervals
9x6=54

Squares
10 x 10 = 100

Total Length 2> 100 + 54 = 154cm

Qs)

60

L
M

L-70
M +70

+«——1 70—

10 40

S

70 — 60 = 100

Pgd
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10 +70 =80
80+2=40
40 + 70 =110

Q7)

Total area of Figure

10 x10=100

100 x 2 = 200 (Total Area of small squares)
20 x 20 = 400

400 x 2 = 800 (Total Area of big squares)
Total > 200 + 800 = 1000

Area of triangles = :}x (10 + 20) x 20 = 300

Area of unshaded region - 300 + 300 = 600
Area of shaded parts - 1000 — 600 = 400cm?

Qs8)

X8 = 12 donuts = $8.80 x8
@ 96 donuts > $70.40

x4 2 1 donut < $0.80 x4
§ 4 donuts 2 $3.20

100 — 96 = 4
$3.20 + $70.40 = 73.60

Q9)

50¢ + 20¢ = 70¢ = $0.70
$8.40 + $0.70 = $12
12x2=24

Q10)

+3€ 45 adults > 75¢ wy +3
15 adults 2> 25¢

15+8=23
45— 23 = 22 adults

Q11)

$6

Durians

F 3
v

«—16—>

$2

—»

Mangosteens

$16 + $2=9%18
$18 +$3 = %6
$6x4=%24
$24 + $6 = $30
$30+5=%6
$6x7 =942

Peb

www.testpapersfree.com

BP-847




$42 + $6 = $48

Q12)

a) 180° -110° =70°
70° +2=35°

b) 35° +90° =125°
180° -125° =55°

Q13)

10U x 4U = 40U

250

5px3=15p

3Ux4

4px3

S -70%
C -20%

Lowest common multiple of 3 and 4: 12

40-15=25
250 +25=10
15 x 10 =150

Q14)

a) 40+4=10
10x3=30
30 x 20 x 21 = 12600m|
b) 12600 +700= 18

Q15)

< 251

v

7V

18U

a) 324+3=108
108 x 4 = 432
432 =+18=24
24 x 25 =600
108 100 = 18%
600

b) 24 x 7 = 168

Q16)

S:R
X3 2 3.5 7 x3
@9:15
Unshaded

S:R
x2a 2.5 x2
@ 4:10

Pgb
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Lower common multiple of 2 and 3: 6

9-4=5

5U-> 45
1U2>45+6=9
9+15=24

24 x9=216

216 — 45 = 171cm?

Q17)

C:W:M
9:2:1
Total: 12

9x5=45
2x2=4
1x1=1
4+1=5
45-5=40
360+40=9
9x12=108

Pg7
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